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QUESTION 1

What is the impact of setting the profile option INV: Override Neg for Backflush = Yes? 

A. It would not allow inventory to be driven negative. 

B. Back flush transactions would drive inventory negative. 

C. Back flush transactions would not drive inventory negative. 

D. Back flush and inventory transactions would drive inventory negative. 

E. Back flush and inventory transactions would not drive inventory negative. 

F. It would permit the driving of on-hand inventory negative for miscellaneous issue transactions. 

Correct Answer: B 

 

QUESTION 2

Your customer wants to create move orders automatically using Kanban system. Which setup should be enabled to
achieve this? 

A. Subinventory source type at the item level. 

B. Master Item source type at the pull sequence level 

C. Organization source type at the pull sequence level 

D. Subinventory source type at the pull sequence level. 

E. Organization Item source type at the pull sequence level. 

Correct Answer: D 

 

QUESTION 3

You receive a request to create a new menu. Instead of creating a new menu, you modify an existing 

menu and save it to a different User Menu Name. 

What happens after saving the menu with a different User Menu Name? 

A. There will be two menus. 

B. The original menu is disabled. 

C. The new menu will not contain any functions. 

D. The new menu will overwrite the original menu 
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Correct Answer: D 

 

QUESTION 4

Which three statements are true when disabling lots? (Choose three.) 

A. Lots are included as on-hand availability in reports. 

B. Lots are not included as on-hand availability in reports. 

C. Lots do not appear in the list of values during receipt transactions. 

D. Lots appear in the list of values for receipts and ail other transactions. 

E. Lots are considered as on-hand supply when you perform min-max or re-order poin tplanning. 

F. Lots are not considered as on-hand supply when you perform min-max orre-order point planning. 

G. Lots are not included in Available to Promise, Available to Reserve, and Available to transact calculations. 

Correct Answer: ACE 

 

QUESTION 5

What are the four required fields when defining a request set? (Choose four.) 

A. Set 

B. Owner D 

C. Set Code 

D. Application 

E. Description 

F. Active Date 

Correct Answer: ACDF 
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